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Directions (1-8) ; Ineachofthe ), pajuisstanding facingnorth. He ~ 17. TRANSPORT
L ng queelions & scries 1o ghven goes S0metresaheadandturns (1) SPORT () STRAP
ect m&mm'&mmmmm&m left and goes for 15 metrea. Now {3 TRUST {4 START
alletnative he turns right and goes for 50 Directions : From the al-
will complete the series, and his given
1. ZXV, TRP, NLJ ? mctm:ndmﬁmlhrmm ternatives select the word which can
MIGF (2 HDF 'ﬂhhémﬁ? diree: EﬂwMMkummm
¥ HOE iy () Morth  (2) East
2. BDF NFR 18, INTERNATIONAL
0 - BT, ¥ ?2}1111-" (@) South  {4) West (1) ANNUAL
aTE 0w e o o 12 LAMINATION
8. 113, 225, 449, 2., 1793 he turns right and walks 2km, (3) TERMINATE (4] INTERNAL
: the following questions one/two state-
(3 987 (4] 978 then again turms right and walks ts llowed by two ¢
4. 230, 246, 271, 307, 2 2 kan and then tums right and  SR0° SR BV P MEE Y 0 O
(1) 412 (2) 356 walks 2 km. How far la he now Elﬂti"ﬂ Ft:'lf.ﬂbeli'ﬂuu i
518 from the atarting point ? statements: o be true even
[ 51 (4 612 . - they seem to be at variance from com-
5 97, 86, 99, 88, 101,2, 2 (1) 0 kem 12} 8Xkm monly known facts, You have to de-
(188,98 (2 90, 108 (3 12km 4 16km cide which ofthe given conclusions, if
(3 121, 108 {4} 114, 103 i3 ‘ﬁ'imdm.litt_lembmmfhwhan any, follow from the given statetents,
6. Select the alternative which is edgeof one inch are put togther 319, Seatements:
related to the given set. to form a solld cube with an edge Dogs havé four legs.
i of three inches. This big cube Is
Citven set is ; [12. 20, 28] then painted red all over the ott- Tables have four legs.
Il} ﬂ!llﬁr lﬂ] fﬂg'[lfi.il?. ?ﬁu alde. When the tlu{(ﬂjlﬂ?iﬂ bro- Conclislons
7. X and her grandfather differ in Up oin fle onga
.mmwmmmﬁ mmmmmﬂhﬁ Ii. Dogs are tables.
jears, if the sum of their ages s Hhout podnt 7 (1) Only I foflows
152, their present ages are (1o 21 (2) Only II follows .
()24, 74 (226,76 13)°3 44 (3) Either I or I follows
4505 (425 75 14. At a college party five girls are | {4) Neither | nor II follows

8. A and B are biothers, E s the

daugther of F. F is the wife of B..

What is the relation of Eto A ?
(1) sister (2) daugther -
{3) niece {4) sister-in-law

0. Arun ranks 17th in a class of 31

students, What s his rank from
" the last 7

(1) 14 2) 15
W16 W7
10. If the day before yesterday was
Thursday, when will Sunday be?
(1) Today '
(2} Two days alfter today
(] Tomomow
{4} Day after Tomormow

sliting in a row. Ple to the left of

M and to the right of O. R 18 8it--

ting to the right of N, but to the
left of O. Who is sitting in-the
middle ?
o 2R
@e M
18. If A = 1; AND = 19 then BAT =7
1 22 a8
® 21 @ 20
18. In a particular way the word
Hﬁﬁumd&dﬂ?ﬂﬂ’l‘
as SLIM. Using the
ing, hosr can NORTH be written?
(1) NLGMI " {2) MLIGS
(3 MOLIS " [4) NLGIS
m:M‘www
ternatives sefect the word which can-
Mtbefm'muduld.ngthﬂﬂtwaﬂlht
ghven word.

20. Statements:
AR animals are hirds.
Some animals are human bemngs,
Conclusions ;: - '
I. Some human belngs are
birds. ,
II. Some birds are human be-
nga.
(1)} follows
{2) 1 foliows
{3) Both I or Ii follow
{4) Neither 1 nor II follows
2L Identify the correct response
from the given premidsea stated
according to following symbals.
If *= stands for division
*+' stands for multiplication.
" '# ptands for subtraction
"' siands for addition
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Which oneof the equations fs cor-
rect 7

1) 1B 414 - 24 % 12+ 16 =12
(3 16x14-24+ 18+ 12 =-24
(3 4= 12 +12+ 18 % 18 = 26
) 18+ 16+12x 18+ 12=24

ﬂSﬂmﬂum&umummnﬂf
mathematical signs to replace *
signs and to balanee the follow-
Ing equation.
Teh+ 5= 410
i+ + = =
Bx - = =
e + = x -
MW+ = "5 =

23 34 %12 =23 28+ 76 = 52,
e 30 = ﬂﬁthm‘iﬂ:m}almﬁﬂ?'
“T3be?

- (132 21 25
(3 86 ) 65
Directions (24-33) : In each of

thefnilmring select the re-

lated letters/word fnumber/figure
from the ghven alternatives.
M. DOCTOR : PATIENT :: LAWYER %
i }] CUEI'GIHER
[2) CLIENT
(3) CONSUMER (4] BUYER
8. Encouragement - Victory .: Frus.

traton: ?
[1) Stalemate (2] Anger
(3 Fadhare (4] Arcdety
28, Dog : Canine ; : Horse 7
(1} Grass 2] Race
{3 Hocf (4] Transport
37, UNDATED : ATEDUND :: COR-
RECT : ?
[1) FRECTOC
{2} RECTROC
3 ECTRORC
{4) RECTCOR
28. AEHN : BOKR : DFON : 7
(1) EHJR [ ELIR
(3) EHKQ (4) DHKQ
29, MIMP : FLOR = RTVX : 7
{1} VTXZ (2 TVXE
{3 TVEX (4) SVEX
0. 365906237
(1) 36 {2 45
3 123 4 63
8L 248:3; 328.: 7
me @5
w4 ) &
32, 212 : 436 :: 560 ;-7
[1) 786" 2) 682
{3y 784 {4) BES

Directions (33-41) ; In each of
the fi find the odd
word fletters,/ number palr from the
giean alternatives.

33. (1) January [2) Jufe
(3 July [4) August
34. (1) Sgaure (2] Sphere
(3 Rectangle 4] Circle
35. (1} Copper 2] Bromme
(3 Gald’ s{4] Sibver
38, (1) cedigg 2] ki
(3 mmnopp  [4) grhuu
37, (1) MLNO (2] KIPG
(3 IHRS [ GFTV
38. [1) 15 (2 27
3 a7 4] 38
30, (1) (13400 12 (14,42
(3 (15,46) 4} (16,45
40, () BEHLN: RIEJLSZ
© MDEQ@VZ M ACIKT
4L (1) 119 2 154
[SIBE k4 51
ﬁitﬂ:- Whitch ome wet of bet-
ters wheh sequentially placed at the

gaps mthe,givmlett:raﬂlmuhaﬂ
~comgplete it 7
4% a b abb_ab_a_ bba .

{1) bbash &) bebba

(3 baaba i4] aabba

Directions : Select the missing
nutber from the given alternatives,
43 5 4 3

6 B 4

7 (<] 5

23 14 7

(123 2 17

T 4] .12

4. A sobid cube 18 made using 64
sl cubes, In how many small
cubes two sides are sesn ?

(1) 24 2 32
(3 40 (4] 42

48, If we substitute] to 24 indicat-
ing hours on the dial of a clock
day and night by the letters of
the English aiphabetin their or-
der starting with 'c" which letter
will represent 16 hours 7

nw i2} F

s Wl R

Directions ¢ In the following
question a word is represented by ondy

one set of rumbers as ghven in any one
of the alternatives, The sets of num-
bers ghven In the alternatives are rep-
resented by two classes of alphabets
a3 In the two matrices given below .

Thee columns and rows of Matrix | are
numbered from #to 4 and that of
Matrix II from 5 to 8. A letter from
these matrices cap be represented
first by its row and next by column
number. For eg. "B can be represent-
ed by 11, 30, ete: 'U' can be repre-
sented by 88 ele. Idmﬂf;rthtael!nr
the word FISH.

S8

=B B ] -
o

Zim|m e | e

=l =E|™| @D &

de frafea =

FEIEGE
a|=-lw|z|= o
Z2ix|C| =~ -

=W | e
ES =t Rkl bl

@]~ |m|o]

5

J1 22,81, 14,69
(2} 23, 86, 88, 41
[3) 33, 88, 67, 22
4] 02, 67, 34, BB

47. Which figure the re-
lation among Lawyers, Teachers

PEee

i) [r1}

48, Eammrmphmdmﬂwltne
MN, then which of the answer
flgures |s the right image of the
Elven question fgure ¥
Goestion Figare

=
Sl

48, Which answer figure will com-
plete the question Agurs?
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Answer figures
w ' @ tsx “(4_3'
80. Asquare transparent sheet with
a pattern is given. Figure out from
amongst the four alternatives as
to how.thie patiern would apper
when the transparent sheet is
folded at the middle line shown.
02
A o
r q .
0|jlO|O | @
AllV]A|A
(1) @ .(3)' @
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Answer: General

Intelligence
1 4 26 3
2 3 27 4
3 1 28 1
4 2 29 2
5 2 30 1
6 3 31 3
7 3 32 3
8 3 33 2
9 2 34 2
10 3 35 2
11 2 36 3
12 1 37 4
13 2 38 2
14 1 39 2
15 2 40 3
16 2 41 2
17 3 42 3
18 4 43 3
19 4 a4 1
20 3 45 4
21 3 46 2
22 3 47 3
23 4 48 4
24 2 49 4
25 3 50 3




